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DNA Replication o
Quick and correct copying of the chromosomes in a cell's nucleus.
This duplication occurs only during the synthesis phase of Interphase.
Replication must happen before mitosis.
-
/ Step Separating the double helix y/ Step? Add new nucleotides
/What happens... / What happens...
DNA helicase breaks the hydrogen bonds in the middle Two strands of new DNA are added, but in opposite
of the double helix. directions.
Allows the nucleotide sequences of the original strands End result is one continuous strand and one fragmented
to be read strand
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Step 4 . .
Realization of two new strands

/What happens...
Completely replicated strands separate, each with half
original and half new DNA.
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Proofread and Binding

/What happens... \

Polymerase checks the new sequences for accuracy while
Ligase fills in gaps in the fragmented strand.
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Separating the double helix
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What ALWAYS happens

Things that must be present for this step to occur

What NEVER happens

Because...
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/ What ALWAYS happens

vk Add new nucleotides

What SOMETIMES happens

What NEVER happens \

Things that must be present Because... Because...
for this step to occur
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